At 7.6 s

o= OV 0 - L3Y ws
p— ~ = ._'L}H;h/dl = —-‘Bcér
AT R s

@L) F-W\C)' Tl LJE\DG:L*E:S m’tt:f; -

G

- = O—/t + ol = - . —
P 0 5 V I 35 =

e ﬂu t =854

\/ = \—/ﬂ "J'I' &--&t So

Vo= 53\&.!5 + "1.“1/51-25 = —1"'“‘”/5

—r—— g
=

S‘:’ ‘ = *1%/5 s

0 ¢
- Fal Ews’xtimw Gx *£- 3 ‘%(tZF) ‘"-'/fi; +/V§E+%aﬁi

|

"if.('-"- M/Slj (3s )1

L

—

| haw 0F 328 Hhe

o

V=% v At T gAY
o )

ge = —95m 4 (3ug s+ L0wma) (L) = [ = TE S/




t
S .
= ‘ + > Onma ﬁuﬁ@ﬂ"-f'{_j
@ Fipst rEsolve e, O —
-5 S -
\/ = { \.Om/5 cos YWY B ( é,fC-M/j
& =
\ (Ows 4" 7 s\L“’“‘/'s
3 st Sind  the twme Whew v reaches  the wmoximuy (=
ol 3 ,i
e . — = +
\ \/ﬂ + 0t = \ \/63 } a
O = :F 54 x-bx,/':s - q g"""‘;.r'rs'l =
-
t = 'q, 5 | v [ 4 - O::i";cf S
1. ¥ |
J—










S\Lh\!)“(‘rﬂakt)r‘t"‘rtz E% (-13 er'b”{ %{13
(=T, "w,q )t mMgg = UM
-_[-1 = -1’?'13% + W".&;—% == 'F‘)Bﬂ. - m‘s‘a\-

(=wm,g +mg§ = My M) =g =ma

(M5 g ™3 -—-umch) = (™M +m

™M - -('m3+ml\ = b
| )3

(P”"\1+ m.g-l- mg‘

SLb:HM:mJ g A

=

(ﬁk% 2 ?Jkﬁ‘l' §k3\

5

t H’?‘,j_ )cu




(= 2

\ K [:FJ—S'H LLS

@ jmma;ﬂg m:ﬂ\)].ﬂ% 4\~ Et‘kﬁ L:v(ac‘.":: HF QAN ﬂ."-’""’lﬂwmj' ﬂj_

T\,\e,%__ the “slack k e the Fopc s token up

by botn repeés  So whs Change  In position
s Bx= Ay
2

P\{‘tﬂf DX
= o —
(&
m -
A
Cl‘twl‘j Mﬁk:\é’ﬂ‘ / -% o 53 = 1 ¥ em
Oy = L']G'\ C v
; - ~ctaunce )
o & e = ﬁ.—(dds -
Now N N Eiae ¥ Q{UX{ [vﬂ\
Now Simce &= 0V 2oy= [ay)




%\bc}«’. A\N
//- 'T B\ﬁ@k'ﬁl
#l T
Lo T
M., Taad
/ 24
L
f\leu}-}ﬂm Lﬂ-u}ff:
N
z F_—X = ™ Oj'" Z FS = &5
2 2 -
o
— —_ L3 -
2T = m al N=mg = oo NEmy

This is clésd = The walile

Supports  the u)@Iakrs

Z\:j = m\&_l? f Frow Fﬂr% 41
_ ) | 0, = a

SJ &% — _-LC'm_
i .I
ZT".—. \') 5
LO\ —) | ~ MLQ/Z
T Mg = 4 (<20
e
Tf}
%
___lq‘ - WM q = tn @
= |
AL bW 1AL ™ =) G ~ W’Cb
g 7m ¢




&~= 5\%‘1‘-—3 w C‘%M/S_L—n
s kna\ f(‘z__c:_kcﬂ
=
. = =3 Oy M/:_)"L
o= M. G




TW To \JO[ﬂOL how) 'Ucﬂr Ot {rowels

~ VA € $6 -5010
Vil ass uw € f}MKCG 8 -5 > 0




O = Ej_
At
A B A5
5HE

@.J F'w\& twe L}Ekncl{s akt=S. -

V

N

0 - L3Y ws

-

—
—

¥

Vo

a t t/é“

2Ls

G

¥ BuAT Lo

o “13HLH/52 = __-B%

:‘3%«,/5 +‘1m/51.25 ='1M,[5

% t "1““*’1&

——

\ L‘Eﬂ ast ¥, S‘

Pumgl. F,,og]-t., g Ak

-+ ~

) v
- 3 -’}é(‘t:?):%; +)Jn7}é+%riti

The

}Z = xﬂ f VO &‘& +i@(ﬁt\1
X

—
-

|

— i lég.(’)%/‘sq ~ [(PCB

L3 g2y (35)

: {'hS‘H

K = =Y 5 A ("3%(5\—2—5 T %(W/Sﬂ('lﬂi =

- ¥, By

Q
I




